
nIo ef/ ah]^ ? nIo ef/ ah]^ ? nIo ef/ ah]^ ?

1 Jofj;flos cfn' pTkfbg sfo{qmd 8.663 500000.00 4.33 250000.00 4.331 250000.00 0

1=1
cfn' ks]6 If]qsf s[ifssf] nflu 

cg'bfgsf] sfo{qmd
j6f 10 8.66 500000.00 10.00 4.33 250000.00 4.331 250000.00 0

2 afln ljsf; sfo{qmd 3.64 210000.00 2.95 170000.00 0 0.69 40000.00

2=1 wfg, ux', ds} aLp cg'bfg sfo{qmd s]=lh 3000 2.60 150000.00 2.6 150000.00 0 0

2=2 uf=kf= :tl/o tflnd k6s 3 1.04 60000.00 1.00 0.35 20000.00 0 2 0.69 40000.00

3 Jofj;flos t/sf/L ljsf; sfo{qmd 19.44 1122000.00 2.03 117000.00 16.89 975000.00 0.52 30000.00

3=1
Knfli6s 3/ lgdf{0f j8f g+= ! b]vL & 

dfudf cfwfl/t_
j6f 14 9.70 560000.00 0 14 9.702 560000.00 0

3=2 Kofs]h k|b{zg ;+Vof 25 0.47 27000.00 0.29 17000.00 10 0.173 10000.00 0

3=3 t/sf/L ;+sng s]Gb| ;Grfng j6f 1 1.73 100000.00 1 1.73 100000.00 0 0

3=4 t/sf/L aLp v/Lb tyf 9'jfgL s]=lh 1.39 80000.00 0 0.866 50000.00 0.52 30000.00

3=5 t/sf/L v]tL ;DalGw tflnd k6s 7 1.82 105000.00 0 1.819 105000.00 0

3=6 t/sf/L Joj;foLnfO{ cg'bfg ;+Vof 10 4.33 250000.00 0 10 4.331 250000.00 0

4 kmnkm"n ljsf; sfo{qmd 10.40 600000.00 0 0.00 5.198 300000.00 5.2 300000.00

4=1
h'gf/, sfutL, ;'Gtnf, cf]v/, cfFk 

lj?jf cg'bfg sfo{qmd 
j6f 3500 5.20 300000.00 0 0 3500 5.2 300000.00

4=2 kmnkm'n g;{/L :yfkgf ;+Vof 2 5.20 300000.00 0 2 5.198 300000.00 0

5 d;nf afln ljsf; sfo{qmd 15.59 900000.00 0 0.00 0 0.00 15.6 900000.00

5=1 l6d"/sf] lj?jf cg'bfg sfo{qmd j6f 15000 15.59 900000.00 0 0 15000 15.6 900000.00

6 k|f+ufl/s v]tL k|a4g sfo{qmd 9.79 565000.00 2.34 135000.00 5.717 330000.00 1.73 100000.00

6=1

sd{rf/L / :yflgo ;f|]t JolStnfO{ 

k|f+ufl/s v]tL ;DalGw Ifdtf  ljsf; 

sfo{qmd

1.04 60000.00 1.04 60000.00 0 0

6=2 k|fËufl/s v]tL k|j4{g cled'lvs/0f k6s 2 0.52 30000.00 0 1 0.52 30000.00 0

6=3
sDkf]i6, emf]n dn tyf h}ljs ljifflb

 jgfpg] tflnd tyf ;fdfu|L ;xof]u

5.20 300000.00 0 5.198 300000.00 0

k|yd rf}dfdl;s bf];|f] rf}dfdl;s t];|f] rf}dfdl;s
qm=;= sfo{qmdx? OsfO{ aflif{s nIo ef/ ah]^

eujltdfO{ ufp+kflnsf

ufp+ sfo{kflnsfsf] sfof{no, 

a]:t*f, b}n]v 

cf=j= 076.077 sf] s[lif ljsf; jflif{s sfo{qmd



nIo ef/ ah]^ ? nIo ef/ ah]^ ? nIo ef/ ah]^ ?

k|yd rf}dfdl;s bf];|f] rf}dfdl;s t];|f] rf}dfdl;s
qm=;= sfo{qmdx? OsfO{ aflif{s nIo ef/ ah]^

6=4 sf]z] afnL k|a4{g sfo{qmd s]=lh 50 0.43 25000.00 0.43 25000.00 0 0

6=5 k|f+ufl/s gd'gf k|bz{gL 1 0.87 50000.00 0.87 50000.00 0 0

6=6 /}yfg] afnL ;+/If0f / ;+Dj4{g 1.73 100000.00 0 0 1.73 100000.00

7 s[ifs k'?:sf/ tyf k|f]T;fxfg sfo{qmd 2.34 135000.00 0.00 0.17 10000.00 0.00 0.693 40000.00 3.00 1.47 85000.00

7=1
uf=kf= :tl/o pTs[i6 # hgf s[ifsnfO{ 

k'?:sf/ k|bfg  
;+Vof 3 0.78 45000.00 0 0 3 0.78 45000.00

7=2 :yfgLo s[lif ;|f]t JolQm kl/rfng 0.87 50000.00 0.17 10000.00 0.347 20000.00 0.35 20000.00

7=3 cf]=h]=6L= kl/rfng 0.69 40000.00 0 0.347 20000.00 0.35 20000.00

8 s[lif ljsf; ;ldlt ;+rfng 3.12 180000.00 1.04 60000.00 1.04 60000.00 1.04 60000.00

8=1 dfl;s j}7s k6s 12 1.04 60000.00 0.35 20000.00 0.347 20000.00 0.35 20000.00

8=2 cg'udg k6s 6 2.08 120000.00 0.69 40000.00 0.693 40000.00 0.69 40000.00

9 ;fgf l;rfO{ sfo{qmd 27.03 1560000.00 8.32 480000.00 11.78 680000.00 6.93 400000.00

9=1
:k|L+sn/ l;rfO{sf] nflu RofDa/ lgdf{0f 

dfudf cfwfl/t cg'bfg
;+Vof 14 4.85 280000.00 0 4.851 280000.00 0

9=2
l;+rfO{ kf]v/L lgdf{0f %) k|ltzt 

cg'bfg
j6f 4 13.86 800000.00 0 2 6.93 400000.00 2 6.93 400000.00

9=3
l;rfO{sf] nflu kfO{k tyf :k|L+sn/, 

s[lif cf}hf/ dfudf cfwfl/t cg'bfg
;+Vof 200 8.32 480000.00 8.32 480000.00 0 0

hDdf 100.00 5772000 0 21.2 1222000 0 45.65 2635000 33.2 1915000


